4be
n you get a nice whole n

e root. One way to think of a square root is the

umber value. Otherwise an
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nswer:

-
0
B

@“ V20 =EB =25

5 20 is equivalent to 24/5 but 243 is considered to be in simplest radical form.

as small as passilole

L & undex

Answer: 2V5

2)

V50

Y252

ng within a radical: When there is an express,

parenthesis and all computation must

he S
t occur prior to taking the s

Toot, the radical acts like a
quare root.

Example 2:

Simplify \25-13

Answi

e I e B

Answel

r 23

#7 - 9: Simplify the following. Show your work.

8) /50-5

NS

Ee

7

Multiplication Table

15 |20 |25

30

35

40

45

50

55

60

18 |24 |30

36

2112835

%)

49

60

66

72

b3

70

77

84

24132140

48

64

72

80

88

%

27 |36 |45

54

63

72

81

90

99

108

30 | 40|50

60

70

80

90

00

110

120

33 | 44155

66

77

88

99

110

121

132

36 |48 |60

12

84

96

108

120

132




HOMEWORK:

/20

52

I can factor quadratic
expressions

5.2A
#1 33 odd
(P-9)

I can solve quadratic
equations by factoring

5.2B
#1-9
(P-11)

5.2B
#10-17
(P-12)

I can simplify radical
expressions

(>-

-
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